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PHẦN TRẮC NGHIỆM (3 điểm)

SECTION 1 (1 mark)
Identify each of the following sentences as analytic, synthetic, or contradiction. (1 mark – 0.1 each)
The sentence My sister dances beautifully is _______. 
A. A synthetic sentence 
B. An analytic sentence 
C. A contradictory sentence
ANSWER: A
The sentence My brother is jealous of me because I am an only child is _______.
A. A contradictory sentence 
B. An analytic sentence 
C. A synthetic sentence
ANSWER: A 
The sentence I don’t like any fish at all, but I like tuna and flounder is _______.
A. A contradictory sentence
B. A synthetic sentence 
C. A analytic sentence
ANSWER: A 
The sentence People who run move their bodies is _______.
A. An analytic sentence
B. A synthetic sentence 
C. A contradictory sentence
The sentence Pigeons are not vegetables is _______.
A. An analytic sentence
B. A synthetic sentence 
C. A contradictory sentence
ANSWER: A 
The sentence John is Lisa’s close friend is _______.
A. A synthetic sentence 
B. An analytic sentence 
C. A contradictory sentence
ANSWER: A
The sentence Earth is the third planet from the Sun is _______.
A. An analytic sentence
B. A synthetic sentence 
C. A contradictory sentence
ANSWER: A 
The sentence Severely deaf children can hear the voices of people around them is _______. 
A. A contradictory sentence 
B. An analytic sentence
C. A synthetic sentence 
ANSWER: A
The sentence That girl is her own grandmother’s mother is _______.
A. A contradictory sentence 
B. An analytic sentence
C. A synthetic sentence 
ANSWER: A
The sentence Some old people like outdoor activities is _______.
A. A synthetic sentence 
B. An analytic sentence 
C. A contradictory sentence
ANSWER: A

SECTION 2 (2 marks)
What kind of speech act is performed through making each of the following utterances? (2 marks, 0.2 each)
‘When did he come back?’
A. Rogative
B. Declarative
C. Representative
D. Commissive
E. Directive
F. Expressive
ANSWER: A
‘I will arrive at 7 o’clock. Hope that you will be there’
A. Commissive 
B. Declarative
C. Representative
D. Directive
E. Rogative
F. Expressive
ANSWER: A
 ‘I appoint you to be the manager of the marketing department.’
A. Declarative
B. Directive
C. Representative
D. Commissive
E. Rogative
F. Expressive
ANSWER: A
‘I am sorry for coming late.’
A. Expressive 
B. Directive
C. Representative
D. Commissive
E. Rogative
F. Declarative
ANSWER: A
 ‘After getting a Covid-19 vaccine, remember to drink plenty of fluids.’
[bookmark: _Hlk79048490]A. Directive
B. Commissive 
C. Representative
D. Declarative
E. Rogative
F. Expressive
ANSWER: A

 ‘Her sister is kind.’
A. Representative
B. Declarative
C. Expressive
D. Directive
E. Rogative
F. Commissive
ANSWER: A
 ‘Five million doses of Moderna Vaccine have been distributed to Vietnam.’ 
A. Representative
B. Declarative
C. Expressive
D. Directive
E. Rogative
F. Commissive
ANSWER: A
‘Oh, dear. You look so gorgeous in this dress.’
A. Expressive
B. Declarative
C. Representative
D. Directive
E. Rogative
F. Commissive
ANSWER: A
‘When the pandemic ends, I’ll take you to some famous tourist attractions.’
A. Commissive
B. Declarative
C. Representative
D. Directive
E. Rogative
F. Expressive
ANSWER: A
 ‘Sweep the floor.’
A. Directive
B. Declarative
C. Representative
D. Commissive
E. Rogative
F. Expressive
ANSWER: A

PHẦN TỰ LUẬN (7 điểm)
SECTION 1 (1.5 marks)
What is implied in the following utterances? (1.5 marks – 0.5 each)

Question 1: A: ‘What’s the weather like?’
		B: ‘Better bring your umbrella.’
What may B’s response implicate?
Đáp án câu 1: B’s response implicates that it’s going to rain so A might be wet.

Question 2: Laura: ‘I am Nick’s friend. I come to visit him.’
		Nick’s mother: ‘He is asleep. He needs his rest.’
What may the mother’s response implicate?
Đáp án câu 2: Nick cannot be able to meet Laura now. 

Question 3: A: ‘She made her own wedding dress.’
		B: ‘She just imagined that.’
What may B’s response implicate?
Đáp án câu 3: B’s response implicates that she didn’t make her own wedding dress (and she told a lie).
SECTION 2 (2 marks)
Complete each of the following sentences in such a way that is an ENTAILMENT of the sentence printed before (→ is used to show one-way entailment and ↔ to show two-way entailment). (2 marks – 0.4 each)
Question 1 (0.4 điểm): Mrs. Green is the doctor of John.
↔   John----------------------------------------------------
Đáp án câu 1: ↔John is the patient of Mrs. Green.
Question 2 (0.4 điểm): Some hotels have no VIP lounge.
↔   Not all----------------------------------------------------
Đáp án câu : ↔Not all hotels have a VIP lounge.
Question 3 (0.4 điểm): The lion killed the deer.
→   The deer---------------------------------------------------- 
Đáp án câu : →The deer is/was dead.
Question 4 (0.4 điểm): She stared at me.
→   She----------------------------------------------------
Đáp án câu 4: →She looked at me.
Question 5 (0.4 điểm):  Mark wrote the report.
↔   The report----------------------------------------------------
Đáp án câu 5: ↔The report was written by Mark.


SECTION 3 (1.5 marks)
 Identify the PRESUPPOSITION(s) in each of the following utterances. (1.5 marks, 0.3 each)
Câu 1 (0.3 điểm): ‘She often works at her laptop until four in the morning.’
Đáp án Câu 1: The utterance presupposes that she has a laptop.
Câu 2 (0.3 điểm): ‘He pretends to be nice and patient.’
Đáp án Câu 2: The utterance presupposes that he is not nice and patient.
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]Câu 3 (0.3 điểm): “This is the most expensive mobile phone that I’ve ever bought.”
Đáp án Câu 3: The utterance presupposes I have bought a number of mobile phones.
Câu 4 (0.3 điểm): ‘When did the wedding take place?’
Đáp án Câu 4: The utterance presupposes the wedding took place.
Câu 5 (0.3 điểm): ‘I wish you had called me
Đáp án Câu 5: The utterance presupposes you didn’t call me.

SECTION 4 (2 marks)
Write your 2 OWN pairs of COMPLEX sentences with the same proposition and 2 with different propositions. (2 marks)
Đáp án: 2 pairs of complex sentences with the same proposition (1 mark; 0.5 each)
	2 pairs of complex sentences with different propositions (1 mark; 0.5 each)
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